Goose Patral

## PRICING PAGE - CR-8169-M4 - GEESE CONTROL SERVICES (CANINE) / I.S.

The fee by location shall be broken down per park:

1. Elm Park:	\$ 35 per visit	x 3 visit per week		\$ 105
2. Coes Pond:	\$ <u>35</u> per visit	x 3 visit per week		\$_105_
3. University Park:	\$ <u>25</u> per visit	x 3 visit per week		\$_75
4. Hope Cemetery:	\$ 20 per visit	x 3 visit per week	=	\$ 60
5. Institute Park:	\$ 35 per visit	x 3 visit per week	****	\$_05
6. Green Hill Park:	\$ 30 per visit	x 3 visit per week	<del></del>	s <u>90</u>
7. Green Hill Golf C	ourse: \$ 45 per visit	x 3 visit per week	=	\$ 135
8. Indian Lake @ St Morgan Pk, and Cla	nore Dr son Rd: \$ per vis	sit x 3 visit per we	eek	= \$120
9. Knights of Columbus Green Hill Athletic Complex 44 Circuit Ave N: \$ 25 per visit x 3 visit per week				= \$ <u>75</u>
10. Other locations a	as needed: \$ 20 per vis	sit day x 3 visit per we	eek	= \$ 60
Grand Total All Lo	cations	s <u>930</u>		×

<sup>\*</sup> Bidder must bid on all items. Award to be made in the aggregate.

Quantities are estimated annual for bidding purposes. Actual quantities may vary and will be based on need as directed by the City.

The vendor shall be paid only for the visits actually performed and properly invoiced, in accordance with the terms and conditions of the Agreement.

Loomacres, Inc.

## PRICING PAGE - CR-8169-M4 - GEESE CONTROL SERVICES (CANINE) / I.S.

The fee by location shall be broken down per park: 1. Elm Park: \$ 55 per visit x 3 visit per week \$ 165 2. Coes Pond: \$ 55 per visit x 3 visit per week \$ 165 \$ <u>55</u> per visit 3. University Park: x 3 visit per week \$ 165 \$ 55 per visit 4. Hope Cemetery: \$ 165 x 3 visit per week \$ 55 \_\_\_\_per visit 5. Institute Park: x 3 visit per week \$ 165 \$ 55 per visit 6. Green Hill Park: x 3 visit per week \$ 165 7. Green Hill Golf Course: \$ \_\_\_\_\_55 \_\_\_\_per visit x 3 visit per week \$ 165 8. Indian Lake @ Shore Dr Morgan Pk, and Clason Rd: \$ \_\_\_55 \_\_\_ per visit x 3 visit per week \$ 165 9. Knights of Columbus Green Hill Athletic Complex 44 Circuit Ave N: \$ 55 per visit x 3 visit per week \$ 165 10. Other locations as needed: \$ \_\_\_\_55 \_\_\_ per visit day x 3 visit per week = \$ 165 Grand Total All Locations ----\$ 1,650

Quantities are estimated annual for bidding purposes. Actual quantities may vary and will be based on need as directed by the City.

The vendor shall be paid only for the visits actually performed and properly invoiced, in accordance with the terms and conditions of the Agreement.

<sup>\*</sup> Bidder must bid on all items. Award to be made in the aggregate.

Massadevsetts Geese Control

## PRICING PAGE - CR-8169-M4 - GEESE CONTROL SERVICES (CANINE) / I.S.

The fee by location shall be broken down per park:

1. Elm Park:	\$35 per vis	sit x 3 visit per week	=	\$ 105	
2. Coes Pond:	\$35 per visi	t x 3 visit per week	=	\$ 105	
3. University Park:	\$ 3 5per visi	t x 3 visit per week	=	s 105	
4. Hope Cemetery:	\$	t x 3 visit per week	=	\$ 105	
5. Institute Park:	\$35per visi	t x 3 visit per week	=	\$ 105	
6. Green Hill Park:	\$ 35 per visi	t x 3 visit per week	=	\$ 105	
7. Green Hill Golf C	ourse: \$35per v	isit x 3 visit per week	=	\$ 105	
8. Indian Lake @ Sh Morgan Pk, and Cla	nore Dr son Rd: \$35	per visit x 3 visit pe	r week	= \$ 10	5-
9. Knights of Colum 44 Circuit Ave N:	nbus Green Hill Athletic	Complex per visit x 3 visit per	week	= \$	<u>,</u>
10. Other locations as needed: \$ 35 per visit day x 3 visit per week = \$ /65					
Grand Total All Lo	cations ————	144K	10	750 *	

<sup>\*</sup> Bidder must bid on all items. Award to be made in the aggregate.

Quantities are estimated annual for bidding purposes. Actual quantities may vary and will be based on need as directed by the City.

The vendor shall be paid only for the visits actually performed and properly invoiced, in accordance with the terms and conditions of the Agreement.

Taleing Flight Coose Control

## PRICING PAGE - CR-8169-M4 - GEESE CONTROL SERVICES (CANINE) / I.S.

The fee by location shall be broken down per park:

1. Elm Park:	\$ 30 per visit	x 3 visit per week	_	\$ 9	0	
2. Coes Pond:	\$ 30 per visit	x 3 visit per week	- Tables	\$ 9	0_	
3. University Park:	\$ 30 per visit	x 3 visit per week	<u>-</u>	\$_9(	<u> </u>	
4. Hope Cemetery:	\$_30 per visit	x 3 visit per week	=	\$ 91	D	
5. Institute Park:	\$_30per visit	x 3 visit per week	=	s 9	0_	
6. Green Hill Park:	\$_30per visit	x 3 visit per week	=	\$ 9	0	
7. Green Hill Golf C	ourse: \$ 30 per visit	x 3 visit per week		\$ 9	D	
8. Indian Lake @ Shore Dr Morgan Pk, and Clason Rd: \$ 30 per visit x 3 visit per week = \$ 90						
9. Knights of Colum 44 Circuit Ave N:	bus Green Hill Athletic Comper vis	olex sit x 3 visit per v	veek	=	\$ 90	
10. Other locations a	as needed: \$ 30 per vis	sit day x 3 visit per v	week	=	s 90	
Grand Total All Lo	cations	s 900			*	

Quantities are estimated annual for bidding purposes. Actual quantities may vary and will be based on need as directed by the City.

The vendor shall be paid only for the visits actually performed and properly invoiced, in accordance with the terms and conditions of the Agreement.

<sup>\*</sup> Bidder must bid on all items. Award to be made in the aggregate.